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&5 K 4 .(Er,na; Tmb(z)@ﬂi%ﬁ jj(g?uicn%é X 4 Tmﬁégﬁ;&)};ﬂi 'Zln? jj(g?uicn%é X 4 ,(Er,na; J:maia(z)ott.—; jj(g?uicn%é & 4 J:m;b(:)d)tl:.—. .;n? jn(g')\licn%é
; 100kN/MZ#8 % % - -~ -[3mZEBZS -~ - -| 100kN/M%#8 %% - -~ -[3mEBZ D ~ -
ZznLst 1.00 | 000 ~ 742 94.74 | =0 | 000 ~ 742|200 10.71 ZznLst 1.00 | 6,00 ~ 10.37 94.74 | TN | 5,00 ~ 1037 2.00 10.71
2 100kN/mMZ#8 % % -~ -[3mZEBZS -~ -| 100kN/M%#8 %% -~ -[3mEBZ D ~
ZznLst 1.00 | 0.00 ~ 7.66 98.25 | =St | 000 ~ 766|210 11.25 Fhn s 1.00 | 6,00 ~ 10.37 98.25 | #nLSY | 5,00 ~ 1037|210 11.25
3 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mEBZ D ~
ZznLst 1.00 | 000 ~ 767 98.27 | #hst | 000 ~ 0.00|1.70 9.12 ZznLst 1.00 | 6,00 ~ 10.37 98.27 | #nLSY | 5,00 ~ 1037| 1.70 9.12
4 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mEBZ D ~
FhnLs 100|000 ~ 766 9816 | FhLst | 000 ~ 766|1.85 9.88 zhnLs 1.00 | 6,00 ~ 10.37 9816 | #nLSY | 5,00 ~ 1037| 1.85 9.88
5 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mEBZ D ~
zhnLs 100|000 ~ 770 9874 | FhLS | 000 ~ 7.70|1.82 9.73 zhLs 1.00 | 6,00 ~ 10.37 98.74 | ENLSY | 5,00 ~ 1037 1.82 9.73
¢ 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mEBZ D ~
FhnLs 100|000 ~ 762 97.63 | =N | 000 ~ 762|187 9.99 zhnLs 1.00 | 5.00 ~ 10.37 97.63 | #hLSY | 5,00 ~ 1037 1.87 9.99
. 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mEBZ D ~
ZznLst 1.00 | 000 ~ 615 77.23 | EnRS | 000 ~ 615|221 11.81 ZznLst 1.00 | 6,00 ~ 10.37 77.23 | EhSN | 5,00 ~ 1037|221 11.81
g 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mEEBZ D ~
zhnLs 100|000 ~ 751 96.02 | =0 | 000 ~ 751 1.91 10.23 zhnLs 1.00 | 6,00 ~ 10.37 96.02 | NS | 5,00 ~ 1037 1.91 10.23
g 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mEBZ D ~
ZznLst 1.00 | 0.00 ~ 6.92 87.60 | hst | 0oo ~ 692|197 10.62 ZznLst 1.00 | 5.00 ~ 940 87.60 | =0 | 5.00 ~ 9.40 | 1.97 10.62
10 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mEBZ D ~
st 1.00 | 0.00 ~ 723 91.97 | #hst | 000 ~ 0.00| 1.568 8.47 ZznLst 1.00 | 5.00 ~ 10.37 91.97 | =S | 5,00 ~ 1037 1.58 8.47
17 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mEBZ D ~
FhnLs 100|000 ~ 747 95.42 | =S | 000 ~ 747 1.93 10.81 zhnLs 1.00 | 6,00 ~ 10.37 95.42 | #nLSY | 5,00 ~ 1037 1.93 10.31
19 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/mM%#8 %% ~ -[3mEBZ D ~
ZznLst 1.00 | 0.00 ~ 747 95.42 | =hst | 000 ~ 747|238 12.72 ZznLst 1.00 | 6.00 ~ 1037 95.42 | =0 | 65,00 ~ 1037|2.38 12.72
19 100kN/m#Z#BZ5| 1.00 | 000 ~ 027 104.00 |3mERBZ% ~ -| 100kN/m% 25 | 1.00 | 1059 ~ 11.34| 104.00 |3mEHBZS ~
ZznLst 1.00 | 0.27 ~ 806 100.00 | =04y | 000 ~ 806|213 11.42 ZznLst 1.00 | 5.00 ~ 10.59 100.00 | #nRS | 6,00 ~ 1134|213 11.42
14 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/mM%#8Z% % ~ -[3mEBZ D ~
zhnLs 100|000 ~ 771 98.94 | =nLS | 000 ~ 771|222 11.89 zhLs 1.00 | 6,00 ~ 10.37 98.94 | TN | 5,00 ~ 1037|222 11.89
15 100kN/mMZ#8% % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mEBZ D ~
Lo 1.00 | 0.00 ~ 347 43.91 | =hS | 0oo ~ 347|228 12.19 Lo 1.00 | 5.00 ~ b6.45 43.91 | 0SS | 65,00 ~ 545|228 12.19

=]



RIER D AR IR R EGERE

BA3—2 BEMITIERTHERESNSERICET SHEIE(2/2) REEE IR 264
AR EONE BBE 77071055 1 [ B4 | KFH] — T H [ el 2ab A=
. SEMMOTIHRICHEET ST aERHA
*gi;]gg TREOBBOEILADKRES TREDOHBEILADOKRES TREOBHOEILADKRES TREOHBERILNOKRES
= = AV AV T = = AV = AV = =
&5 X 4 .(ar;né; Tiﬁﬁﬁ(z)@ftﬁﬁﬁ jj(goNicn?)é X 4 TJWEE§$;K$ 'Zln%{ jj(goNicn?)é X 4 ,(Er,na; J:lﬁﬁfJ(z)o)ttlEl jj(goNicn?)é X 4 J:mb(z)d)tl:.m 'Zln%{ jj(:ilicn?)é
16 100kN/MZ#8 % % - ~ -[3mZEBZS ~ - -| 100kN/M%#8 %% - ~ -[3mEBZ D ~ -
ZznLst ~ ZFh st ~ ZznLst ~ Fh st ~
P 100kN/mMZ#8 % % ~ -[3mZEBZS ~ -| 100kN/M%#8 %% ~ -[3mEBZ D ~
ZznLst ~ Fh st ~ ZznLst ~ Fh st ~
100kN/mMZ#8% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZznLst ~ ZFh st ~ ZznLst ~ Fh st ~
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZznLst ~ Fh st ~ ZznLst ~ Fh st ~
100kN/mMZ#8% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZznLst ~ ZFh st ~ ZznLst ~ Fh st ~
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
st ~ Fh st ~ st ~ Fh st ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZznLst ~ Fh st ~ ZznLst ~ Fhn st ~
100kN/mMZ#8% % ~ ImEBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZznLst ~ ZFh st ~ ZznLst ~ Fh st ~
100kN/mMZ#8 % % ~ ImEBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZznLst ~ Fh st ~ ZznLst ~ Fh st ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
st ~ Fh st ~ st ~ Fh st ~
100kN/mMZ#8% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZznLst ~ Fh s ~ ZznLst ~ Fh st ~
100kN/mMZ#8% % ~ ImEBZD ~ 100kN/mMZ#B 2% ~ ImEBZS ~
ZznLst ~ ZFh st ~ ZznLst ~ Fh st ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZznLst ~ Fh st ~ ZznLst ~ Fh st ~
100kN/mMZ#8 % % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZznLst ~ Fhn st ~ ZznLst ~ Fh st ~
100kN/mMZ#8% % ~ ImEBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
TS ~ Zn LS ~ zhst ~ Zh st ~
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